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6.00

5.00

»
o
S

3.00

Packet Throughput [Mpps]

N
o
S

1.00

0.00
1 2 3 4 5 6

Test Cases [Index]

10 runs) avf-ethip4vxlan-I2bdbasemaclrn-eth-iacldstbase-aclpermit-2vho
10 runs) avf-ethip4vxlan-12bdbasemaclrn-eth-iacldstbase-aclpermitreflec
10 runs) avf-ethip4vxlan-12bdbasemaclrn-eth-iacldstbase-noacl-2vhostvr
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10 runs) ethip4vxlan-I12bdbasemaclrn-eth-iacldstbase-noacl-2vhostvr102
09 runs) ethip4vxlan-I2bdbasemaclrn-eth-iacldstbase-aclpermit-2vhostvr
10 runs) ethip4vxlan-I12bdbasemacirn-eth-iacldstbase-aclpermitreflect-2v
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https://plot.ly/

